Name Class Date

Practice 6-2

Mixed Exercises

Solve each system using substitution. Write no solution or infinitely many
solutions where appropriate.

1. y =« 2. y=x+ 4 .y =3x— 10
y=.._x+2 y=3x y;Zx—5
4 x = -2y + 1 5. y = 5x + 5 6. y=x -3
xX=y—5 y = ldx — 1 y = —3x + 25
7.y =x — 7 B.y=3x—-6 9. x + 2y = 200
2x + v=8 —3x+ y= -6 =y + 50
10. 3x + y = 10 M. y=2x+7 122 3c — 2y = 0
y= —3x t 4 y = 5x + 4 X+ y= -5
13. 4x + 2y = 8 14. 6x — 3y = 6 15. 2x + 4y = —6
y = —2x + 4 y=2x+5 x— =7
16. 5x — 3y = —4 17.y=—%x+4 18. 2x + 3y = 8
x4+ y= —4 2x + 3y = —6 3y =4 - x
19. 3x — y = 4 20. x + y =0 21. 5x + 2y = 6
Ix+ yv=16 x=y + 4 y=w-g-x+1
22. 2x + 5y = —6 23. 4x + 3y = -3 24. y = —%x +1
4x + y = —12 2x + y= —1 4 + 6y = 6
25. 5x — 6y = 19 26. 2x + y = 6.6 27. 2x — 4y = 38
4x + 3y = 10 5x — 2y = 0.3 3x —y =177
28. 3x + 4y = 8 29, 3x — 4y = =5 30. y = §x + 10
45x + 6y = 12 x=y+ 2 x=3y+606
31. 2x + 5y = 62 3. 5x+y=6 3.x=3y -6
3x — y = 233 2x — 3y = 60 y= %x + 8
34, 5x + 6y = —76 35. 3x — 2y = 10 36. —3x + 2y = —6
x + 2y = —44 yZ%x*1 —2x+ y =6
37. 3x + 2y =5 38. 2x + 5y = 16 39, 5x + 3y = 12
x + 4y = 0 x + 3y =16 3y = —5x + 3
40. 7x — 2y = 24 A.5x— y = —18 42. 2% + y = 24
dx —y = 8 ix + 2y = 92 S5x + 3y = 48
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Practice 6-3

Mixed Exercises

Solve each system using elimination. Check your solution,
x+2y=7 2. 3Ix+ y =20 3.5 + 7y = 77
3x — 2y = =3 x+y= 12 Sx + 3y = 53
2x + 5y = —1 5. 3x + 6y = 6 6. 2x + y =3
x+ 2y=20 2 — vy — 4 —2x + y=1
9x — 3y = 24 B.2x+ 7y =5 9 x + y= 30
7x — 3y =12 2x + 3y =9 x—y=26
4x - y = 6 M. x+ 2y =9 12. 3x + 5y = 10
3x + 2y = 21 3 + 2y =7 x = 5y = —10
2x — 3y = —11 14, 8x — 9y = 19 15, 2x + 6y = O
3x + 2y = 29 4x + v = =7 —2x — 5 =10
—2x + 3y = —9 7. 4x — 3y =11 18. 3x + 7y = 48
x+ 3y =3 Jx — 5y = —11 5x — 7y = —32
—2x + 3y = 25 20. 3x + 8y = Bi 21. 8x + 13y = 179
—2x + 6y = 58 5x — 6y = —39 2x — 13y = ~69
—x + 8y = —32 23. 2x + 7y = —7 24, x + 6y = 48
Ix —y = 27 50 + 7y = 14 -x+ty=28
6x + 3y = 0 26. 7x + 3y = 25 27. 3x — 8y = 32
—3x + 3y =9 —2x —y = —8 —x + 8y = —16
4x — 7y = —15 29. 5x + Ty = —1 30. 6x — 3y = 69
—4x — 3y = —15 4x — 2y = 22 7x — 3y =76
x + 8y = 28 32. 8x — 6y = —122 33. 2x + 9y = 36
~3x + 5y = 3 —4x + 6y = % 2x — y = 16
—6x + 12y = 120 35. —x +3y=25 36. 10x — 4y =
5x — 6y = —48 —x — 3y =1 10x + 3y = 13
6x + 3y = 27 38. 6x — 8y = 40 39, 3x + y = 27
—4x + 7y = 27 5x + 8y = 48 ~3x + 4y = —42
2x + 8y = —42 41, 5x + 9y = 112 42. —3x + 2y = 0
—x + 8 = —63 3x — 2y = 8 ~3x+ 5y =9
8x — 2y = 58 a4. 7x — 9y = —57 45. 9x + 3y = 2
6x — 2y = 40 —7x + 10y = 068 —9x -y =10
9x + 8y = 50 47. 2x — 7y = 9 48. 9x + 7y = 157
—3x + 5y = 14 fx + 5y = 69 12x + 7y = 193
3x + 5y = 18 50. 2x + 6y = 54 51. 3x — Yy = —5l
12x — 3y =13 2x — 6y = —18 3x — 7y = —37
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